Short division

Name : Class : Date :
Mark : /10 %o
1) Work out 54 +2 by short division [1]
2) Work out 64 + 8 by short division [1]
3) Workout 71 =2 by short division [1]
remainder
4) Workout 71 +3 by short division [1]
remainder

5) Work out 297 =9 by short division [1]
6) Work out 536 +9 by short division [1]

remainder




7) Work out 2565 +9 by short division

8) Work out 1483 + 2 by short division

remainder

9) A group of children share 8 marbles. They get 2 marbles each.

How many children are there? children

10) 6 children share 59 toy cars equally between themselves.

How many toy cars are left over? toy cars
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Solutions for the assessment YR5 NC16 - Short division

1) 27

3) 35 remainder 1

5) 33

7) 285

9) 4 children

2) 8

4) 23 remainder 2

6) 59 remainder 5

8) 741 remainder 1

10) 5 toy cars



